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GET OUT YOUR BINDERS AND WORK ON THESE REVIEW
PROBLEMS. NO QUIZ TODAY!!

1. The legs of the isosceles triangle each measure 14 inches.
Calculate the length of the hypotenuse.

2. Calculate the value of c.

14 in.

3. The perimeter of the square is 32 centimeters.
Calculate the length of its diagonal.

9 4. Calculate the value of a.

N 122m
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\

5. The length of a diagonal of the square is 36 centimeters.
Calculate the length of each side.

. 6. The length of a diagonal of the square is 12 centimeters.
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REVIEW

Determine the length of the hypotenuse of each 45°-45°-90° triangle.
Write your answer as a radical in simplest form.

Determine the lengths of the legs of each 45°—45°-90° triangle. Write your answer as a radical in
simplest form. a'z +o0%=- | o 2
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3.4

More Stamps, Really?

PG. 243-4 IN YOUR BOOK

This stamp was issued in Malaysia.

1. How is this stamp different frnrr the stamps you studied in the previous lesson?

a,abbu o em

2. This Malaysian stamp is shaped like an equilateral triangle. What is the measure of each
interior angle of the triangle? Explain your reasoning.

O® ; |®0° =3

3. Use the diagram of the stamp to draw an altitude to the base of the equilateral triangle.
Describe the two triangles formed by the altitude.

20°- 0" -0’

4. How do you know that the two triangles formed by the altitude drawn to the base of an
equilateral triangle are congruent.

Sides areall = (556 AZ)
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PG.245 IN YOUR BOOK

5. If the length of each side of the Malaysian stamp is
50 millimeters, determine the length of the three sides in
each of the two 30°-60°-90° triangles formed by the
altitude drawn to the base of the equilateral triangle.

Don't rewrite
radical side lewgths as

decipals. That will help
you see the pattern.

o= 26+

2500 = m th” 50

- (25 -UWAS 7
RS W N,

mE e
V25253 = h WX /o ! |
25 B == h ”

Yopest \49,
& 5y>=h L 0
2o 0 G
| Shordesst @9
6. How doe ength of the hypotenuse in each of the two 30°-60°-90° triangles relate

to the Ienl;:;{h of the shortest leg? “'h \ _k
) +er\u%e (s +wo Hmes The length
O@‘Hr‘\j Corortest e ki

7. How does the length of the longer leg in each of the two 30°-60°-80° triangles relate to
the length of the shortest Ieg'?'

The lorge (S Hm
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PG.246 IN YOUR BOOK

The 30°-60°-90° Triangle Theorem states: “the length of the hypotenuse in 2 30°-60°-90°
triangle is two times the length of the shorter leg, and the length of the longer leg is 3 times
the length of the shorter leg.”

8. Use the Pythagorean Theorem to demonstrate the 30°-60°-90° Triangle Theorem.
Let x represent the length of the shortest leg.

w2+ (x3)%= (20 i
XZ A BX‘L: le’), V5 Xﬁ

Hy* = 4x’ P L

SKIP PROBLEM 2 IN YOUR BOOK (?-Y?\-(q,:a
L

(x§2)(x§3)
X*3
Ax
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NOT IN YOUR BOOK

Given the length of the short leg of a 30°-60°-90° triangle, determine the lengths of the long leg and the
hypotenuse. Write your answers as radicals in simplest form.

5. i .27 3= & .5 =\0

=243 " 58

VB mm J15cm
30 30

Given the length of the hypotenuse of a 30°-60°-90° triangle, determine the lengths of the two legs. Write
your answers as radicals in simplest form.

9. N 10. e

D 21003 b

11. , 12, _
60 8+/3 yd 80 4.2 ft

30 30
b b

Given the length of the long side of a 30°-60°-90° triangle, determine the lengths of the short leg and tl
hypotenuse. Write your answers as radicals in simplest form.

8J/3in. 1143 m
15. 16.
] c G0 c
a a
3 30
12 mi 18 ft
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NOT IN YOUR BOOK

1. The length of the hypotenuse in the 30°—60°—-90°
triangle shown is 28 meters. Calculate the lengths of
sides a and b.

2. The length of the side oppaosite the 30-degree angle is 5 fest.
Calculate the lengths of sides b and c.

3. The length of the side opposite the 60-degree angle is

8 millimeters. Calculate the lengths of sides a and c. 60°

30°

B mm

4. A broadcast antenna is situated on top of a tower. The signal travels from the antenna
to your house so you can watch TV. The angle of elevation from your house to the tower
measures 30 degrees, and the distance from your house to the tower is 500 feet. Calculate the

height of the tower and the distance the signal travels.
Antenna

80"

a0°
500 ft House
5. The length of the longer leg in the 30°—60°—90° triangle shown is 22 miles.
Calculate the length of the hypotenuse.
80" ]
22 miles
307
6. The length of the shorter leg in the 30°-60°—-90° triangle shown is 13 meters. 6013 m =

Calculate the length of the hypotenuse.
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Homework
Finish 3.4
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